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— Problem #20

20 A5 o WF T 220
p:at—r—6<0,
g: e +(6—3a)r+20"—10a+8 = 0
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T 24 p, ¢o AEHFE A7 P, Q2 34
prat—z—6<0 & —2<x<3

= P={z]—-2<z<3}

q¢: 2°+(6—3a)z+2d"°—10a+8 = 0

& 2’ +(6—3a)z+ (a—4)(2a—2) =0

e (z—at+4)(2—2a+2)=0

webd] A% Q& agel Wl whet debgu,

i) a—4=>2a—2 = a<—29 A%
g:x>a—4 or x < 2a— 20|,
a<—2°% a—4 <2087

ol A PNnQ={r|-2<z<3}

A A a7b @ 27 ol EATUH.
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ii—1) a—4=—1 = a=39% 2%

g: x<—1 or x> 4°|E%
PNnQ={zl-2<z<-1}ol2& A9 21& W5
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ii—2) 2a—2=2 = a=29% A%

g: x<—2 or x=20|E%
PNQ={z2 <z <3te]m& FA9 20& W5HY
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